AT YR4/15) ) ESLCYAE) ATv4/16)

B R Sovk | HEES [#a B R Sovk | HEEE | #Hay #& Soyvr| HEEE

19kg #& 1 E 1 1 |5 ~6 4| 34kefk 1 ~ 8 8 BEER 41 ~ 43| 3
ME FO8k 2| 1 |1 ~2%| 24kefk 9 ~ 13| 5 EHER 1 @ 4] 1
19ke#k 28| 3 ~ 6 4 24kg R 1 @ 14 ~ 16| 3 FEHK 45 ~ 49| 5
1~2 4| 28kgfk |1 [EE| 7 ~ 10| 4 |3 ~44F| 28ke#k 17 ~ 19| 3 hE=HH 50 ~ 51 2
3 ~4 4| 3s8ke#k |1 EIE 1l 1 33kgik 20 ~ 24| 5 s 7 BESH (2B (52 ~ 55| 4
o i TOOKEAR] 12| 1 30kgik 2% ~ 29| 5 | SBE |1 EH 56| 1
+50kgBik 13 1 5 ~6 34keg#k |2 EIE; (30 ~ 37| 8 BhEH > E% 57 ~ 60| 4
F0% | 2 [EE 14| 1 39ke#k 1 @ 38 ~ 42| 5 FEHK 61 ~ 64| 4
e 19kg #& 15 ~ 16| 2 45kg#k 43 ~ 44| 2 BESHK| 1@ 65 ~ 67| 3
23keg Rk 17 ~ 18| 2 44 hESH |2 EE| 68 ~ 71 4
| ~p 20kg#k | ZERRE (19 ~ 20| 2 = 4/16 B2k 72| 1
28ke ik 21 ~ 22| 2 [1 24| 2akefk 45 ~ 48] 4 |megz i’it%ff& D T4 2
3 ~4 | 38ke#k 23 ~ 24| 2 24kl a9 ~ 52| a th =4k 75| 1
5 ~p g | OOKEAR | 25| 1 g q | ooe |2 2% |53 ~ 6| 4 EE® 8~ 77] 2
+50kg Bk 26| 1 33ke 57 ~ 60| a4 BEER 78 ~ 79| 2
g |1keB 27| 1 ket |2 E#[61 ~ 64| 4 BER 80 _~ 81| 2
23keh 28] 1 sake#h |3 EH |65 ~ 68| 4 |pengep | BTER 82 ~ 83| 2
20ke#k | 3 ik 29| 1 |5~6%F = - PE® |, . |84 ~ 85| 2

1 ~2 & 39kg ik e | 89 72| 4 RIS
28kg#R 30| 1 45kg ik 2 % 73 ~ 76| 4 BEEH 86 ~ 87| 2
3 ~4 | 38ke#k 31 U [ <2 | 2oke 77 ~ 78| 2 hEEH 88 ~ 89| 2
F08k | 3 EE 32| 1 2ake 79 ~ 8ol 2 [23g 90 ~ 91| 2
e 19kg#k 33| 1 |3 ~q%| 28ketk 81 ~ 82| 2 |mmsz BhEH 92 ~ 93| 2
23kg#R 34| 1 33kei® | .. 83 ~ 84l 2 hEHR |2 @E 94| 1
20kgifk —_— 35| 1 30kg#k R 85 ~ 86| 2 EEMHk | FERB| 95 ~ 96| 2
1 ~2 &| 28kefk 36| 1 3ake ik 87 ~ 88| 2 Bk 97| 1
+28kg 371 1 |5 ~6%F aokeik 59 ~ ool 2 BER 98| 1
3 ~4 | 38ke#k 38 1 45ke ik of ~ 92| 2 |mmmz Bk 99 1
5~ | TOOKBAR 9] 1 |1 ~2 & 2aketk 93] 1 R E# o] 1
+50kgBik 40| 1 24kefk 94| 1 BEsk| 3R 01| 1
40 |3 ~4 | 28ketl 95| 1 FEEHR 102 1
33ke#k . 96| 1 BER 103 1
soketE | ey E L P 04| 1
34ke#k 08| 1 EER 105 1
5 ~6 & okeik 9| 1 BEER 106 1
45ke iR 100| 1 BRER 7] 1
1 ~2 | 24kegil 101 1 BER 108 1
24kg#k 102 1 thasgEz BhEHR 109 1
3 ~4 %[ 28kefk 103 1 PER | o] 1
33kedl | . 104 1 BEER 1
30k ik R 105| 1 FEER 2] 1
34k ik 106| 1 BER "3 1
5~6% 3ok ik 07| 1 2E2) 4] 1
45kg iR 108 1 o BhEk s 1
64 RERT f=#k |3 B 16| 1
F=Hh |R B 17 1
77




